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Quel. Convert into units shown:

(@ |24Km = m
(b) |67m = cm
() |2m78m |= |__cm
(d) |2100cm = m
(e) |15Kg = |9
(P 23m8cm | = . Cm
(9) |5kg78¢g |= | @
(h) | 77mb56cm | = __cm
(1) 246m = __cm
() |94Kg = |49
(K) | 24Km = . m

Que2. Solve the following:

(a) 8BKm 300 m + 900m (b) 78m 63cm + 900m 9cm




(c) 67Km 300 m + 78Km 98m (d)2m 90cm+444cm

(e) 786Km — 67Km 589m (d)56m 89cm — 18m 33cm

Que3. A shopkeeper had 60m of silk cloth, he sold 35m 50cm to a man. How
much silk cloth is left with him?




Que4. A man travelled 255Km by train, 12Km 500m by bus and 2Km 300m on
foot. What is the total distance covered by the man?




